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as #nfairmeans. :
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or darken a circle partially, the answer will be treated as incorrect.
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question, feave all the circles in the corresponding row blank fsuch question will be awarded
zern mavks). :

For rough work, use the inner back page of the title cover and the blank page at the end of this
Book et .

Deposit only OMR Answer Sheet at the end of the Test.

You are not permitted to leave the Examination Hall until the end of the Test.

1 a candidate stiospts to gse any form of unfair means, Wmh panishaent as

the Ummﬂmﬁm-n and impose on him/her.
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14U/ 102/26(iii)
No. qf_Quutinnn : 200
ayt & de 200

Time : 2 Hours . Full Marks : 300
auy : 3 YU2 : qury : 300

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zaro mark will be awarded for each unattempted

question.
sferts Swt @ &t A BT F| 9w 737 3 ()
éﬁm%nﬁwmaﬁr%mwwﬁwm;
g STIAIE S B AT G BT |

(2} 1f more than one¢ alternative answers seem o be approximate {o
the correct answer, choose the closest one.

ﬁwﬁﬁaﬁﬁqﬁwnﬁﬁ%ﬁﬂﬁﬂfﬁﬂﬁ,ﬁﬁﬁﬁﬂ“
gl IAL &

(3) This paper comprises of Five Sections. Bections I and II are
compulsory whereas only one Section out of IIE, IV and V is to

be attempted.
ﬁnmﬁﬂmﬁm%mlqﬁuaﬁﬂ%mﬁ%

m, vy vH ¥ Prft o @ I9C & B

3 P.T.0.
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Bection -1
oy -1
Mental Ability
(Compulsory for all)

01. Which number would replace question mark in the series ;

Foft A gy € @ w7 W s g
7,12, 19, ?, 39. |
(1) 29 (2) 28 (3) 26 4 24

02. Spot the stranger in the following -
(1} Rose _ -{2) Marigold
(3) Lily (4) Lotus

ﬁwﬁ%ﬁﬁ%mww%ﬁgﬁ%ﬁﬁmﬁ% ar
AT R 7

(1) T 2) A (3) Re (4) TR
03. Which city out of the following is known as the c1ty of Lakes and

Mountains 7

(1) Jaipur ) (2) Haridwar "

{3) Bhopal (4) Lucknow

ﬁﬁﬁrﬁaﬁﬂﬁﬂamﬂmmtﬁﬁmﬁrmmmm
TR AT R ?

(1) =AY (2) w=fa (3) wgreT (4) T=TH



+
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Who is the cricket player of Ifidia who has received the first Bharat
Ratna dunng the year 20147

(1) Dhyanchand A o) M.S. Dhooni

s
A

-

(3) Sachin Tendulkat (4} Virat Kohli

Preffee & & sraad & B @ Bede Raeardt & Praa 2014 9
29 &l Y& WA~ ura fear 7 |

(1) &= =% 2) == fhe 90

(3) @R AFTHT (4) froe wied

Which one of the following animals is vegetarian ?

(1) Wolf " [2) Rabbit

(3) Fox - ' (4) Wild bear

frefofiae F ¥ @9 @ O Sra] & o B areerfy B 7

() W () woetw (@) WA (4) TRl Wy

. Find the odd one :

I e
(1} EDCBA (2) ° PONML (3) UTSRQ - {4} YXWVZ

At what time between 7 and 8 o'clock will the hands of a clock be in
the same straight-line but not together 7

- 2
{1} 5 minute passed 7 (2) Eﬁ rmnutea passed 7
' 3 . ' 5
(33 937 minutes passed 7 | [4] g'ﬁ minutes pamd 7
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08,

10.

e gl udl § 73R a9 & g § e g gl oF @ we
7 erll Afe o T T 7

() 7&F | sfme O (2) Ta@rﬁslz—lﬁqa*m

3 794 A S%fﬁﬂzﬂﬁ (4) ?aﬁﬁﬁ%ﬁﬂ?'ﬂm

Choose the numbers which is different from others in the group :

TE § FOT " g
(1} 751 (2) 734 (3} 981 (4) 853

——n

Choose the number which is different from others in the group :

q9E 4 o e A g
(1) 12 (2) 25 (3) 37 ) 49

e —

The difference between the interest received from two banks on Rs.500

for 2 years is Rs. 2.50, then the dificrence between their rates i:_; :
(1 1% (2} ©.50% (3) 2.50% (4} 0.25%

A A IH A PR =T @ AT 2 9 A 500 T T 2.50 YA
B 3T A A B = o e A

(1) 1 gferere (2} 0.50 gferer

(3] 2.50 =i (4) 0.25.!:[1?[3??1'



11.

13.

13.

14U/ 102/ 26¢lid)

If 5 men, working for 6 hours a day can reap a field in 20 days, then
in how many days, will 15 men reap the field ? The hours of the day
may be taken as 8 hours :

{1) 5days (2) 6days (3) ?% days (4) 9 days

T S J1T o AT # T2 6 =5 afdfR w3, 20 foemr ¥ @A Fred
. 3 alsqﬁaaﬁaﬁaﬁrﬁﬁ%ﬁﬂﬁﬁﬁ arTY wE Re # 8
He & HET A 7

(1) sR= (2) o= (3) ?%ﬁ? 4} 9

In an examination, 35% of the students passed and 455 failed. How

many students appeared for the examination ?

t&ﬁmﬂ,%uﬁmmwym%s%ﬁrgﬁﬁqﬂwﬂ
PR B A g & 7
[1] 490 (2) 700 (3) 845 4] 1300

i one-third of water tank holds 80 litres of water, then the quantity of
water that can be held in half-full tank will be :

(1) !;i litres (2} 100 litres (3) 120 litres (4) 240 litres

o e A 2 o B R W g ¥, 80 ey Ot T

tammgmwmmm%?
50

) = WRT. (2 100 ¥t (3} mnaﬁ?-«r (4) 240@@1

3

7 :_ﬁ.n.
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14,

15.

16,

17.

The area of largest triangle that can be inscribed in a semicircle of
radius "r" is :
(1) 2rem? (2) r?cm? (3) 8rcm? (4} 2 arcm?

TF TR T8 PR F S S 6 s A s B
L FEART T W, B

(1) 2r T o | (2] g% o

(3) 8r Ft Aflo (4) 2ar 71 o

A train which is 700 m long, is running at the speed of 72 km per
hour. H it crosses a tunnel in 1 minute, then the length of the tunne!
i meters is ;

(1] 700 m. (2) 600m. (3] 550m. (4) 500 m.

e Y Rraad s 700 Wey §, 72 Phdrfer oy 69 9 iy
ﬁﬂatﬁﬁ?slwmmﬁtﬁwaﬂlﬁﬁﬁﬁmm%a
g3 Fit e Hee F EFf 1

() 7003fIT (2) 600WET (3) ssoHfRYT (4] 500 =Y

The ratio of number of boys and girls in a school of 720 students is
7 15, then how many more girls should be admitted to make the ratio
as1:1:7

?zuﬁmﬁzﬂaﬁﬁ%wﬁmﬁaﬁtﬁzﬁmﬁmaﬁm
7:58, ﬁrwaﬂqmﬂl 1 T 3 R Reeeh ofre asfeat o
n‘&wanam

(1) <0 . {2y 120 (3) 220 (4) 240

Il the perimeter of a rectangle is 82 m and the area is 400 m?, the
breadth of rectangle is :

(1] 25m. (2) 16 m. (3) 9m, 4) 20 m.



18.

19,

20.

14U/ 102/ 26411i)

qaammaaﬁraﬁiﬁﬁ(qﬁw)ezrﬂﬂ%_aﬁtmaﬂmmn
ey 3, @ smaa o e &

(1) 25#H=T (2 16 AT (3) 9 #HIET 4) 20X

The sum of two numbers is 80. If the larger number exceeds four

times the smaller one by 5, then the smaller number is °
mtﬁﬂﬁmﬂwﬁvsnﬁ,ﬁma@mﬁﬁw,@ﬁﬁmsﬁ
aﬁyﬂaﬁm’a,ﬁrzﬁﬁﬁw@vﬁ:

{1 5 (2) 15 (3) 20 4) 25°

A and B are brothers. C and It are sisters. A's son is ['s brother. How

is B related to C ?

(1) Father (2) Brother

{3) Grandfather (4) Uncle
Aaﬁtsﬁﬂﬁ’%lc@?Daﬁaﬁ%mmmnmmﬁ
% @ B ofr C & Ry =40 B 7

(1) fon (2) g (3) =T (4) e

Sunita ranked 11" from the top and 27 from the bottom in a ¢lass.
How many students are there in the class ?

mmﬂgﬁmwﬂénaaﬁtw%aﬂ?ﬁ%ﬁzﬂw
qw-%,ﬁrmmﬁﬁﬁﬁmtﬁ%?
m 8 . @ 28 (3) 40 (4) 37

9 P.T.O.
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21.

22,

23.

24.

25.

Find the missing number (?} in the following figure :

Prefofeer R & v (7) s 2 s sbifong

a DA
= PR,

{1) 52 (2} 36 (3} 117 14) 81

ldentify a wrong number in the following series -

ﬁnﬁm%ﬁwmﬁ%ﬁqvﬁﬁsﬂm%

7.28, 63, 124, 215, 342, 51 |
(1) 7 20 28 (31 124 {4) 21s.

Find out the missing number in the following :

ﬁwﬁr@aﬁaﬂﬂwaﬁwﬁﬁﬁﬁﬁiﬁarﬁ%l
9:80:7: ... o
(1} 48 {2) so (3) 78 (4) 82

Choose the group of letters which is different from others

ﬁwﬁﬁgaﬁﬁmmwﬁ%ngwﬁﬁ}ﬁi@ﬁﬁﬁm
(1) ABD (2) HIK 3) VWZ . (4 oRrT

If GIVE is coded as 5137 and BAT is coded as 924, then GATE -iﬁ
coded as : ”

IVE ®) @iz ) _
g, 924G EGATE ﬁﬁ’%m%@éﬁﬁ? BAT N I Regi o

(1) 5427 (2) 2547 (3} 5247 (4] 5724

10



26.

27.

28.

29.

14U/ 102]26{111)

Section - I
wvE -1
Chemistry

lc:uppuhory for all)

A metal nitrate reacts with KI to give a black precipitate which on
addition of excess of Kl converts to orange colour solution. The cation

of the metal nitrate 1s

mgwmﬁmmmmmammﬁ
g ﬁwww-ﬁwmm%nma@zaﬂw

(1) Hg* (2} Pb* (3) . [4) B

The two forms of D-glucopytanose obtained from the solution of D-
glacose are called :

(1] enantiomers (2) epimers (3) anomers {4) isomers
D)~ o] oTIHed § D-TEHIIE & g7 i@ & ' &
A4 W% ? ' '

(1) sfafe=s =9 (2) e (3) TAHE (4) zEmE

The compound that 18 most reactive towards nitration is
(1) toluene (2) benzene (3) benzoic acid (4] nitrobenzene

A o gRa @ R gafftes @by B

(1) Mg (2) FA (3) ¥FmEE ufEE {4) CECACLSIEN
Kelbe's tlECt]’ﬂlj'SiS of Iﬁotassium 'succinate gives ! '

(1) CO, and cthane (2) €O, and ethene

(3) €O, and methane . ) (4) CO, only

11 | ¥ir.0.
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30.

a1.

33.

33.

An enantiomerically pure acid is tregted with a racemic mixture of an
alcohol having one chiral carbon. The ester formed will be :

(1} an optically active mixture (2} a pure enantiomer
(3) ameso compound (4) & racemic mixture

' =g 3 Wl iy For a3
T T S 320 e (et o e
(1) T wfives wftey frsor (2) um gfoféeg =g
{3) u= gy fftrer (4) OF fiy sy

Which of the following compounds is oxidised to prepare methyl ethyi
ketone ?

{1) 2-propanol . (2) 1-butancl

{3} 2-butanol ' (4) tert-butyl alcohol
ﬁﬂﬁﬁ;ﬂﬁm%aﬂﬁmﬁﬂﬁﬁmﬁﬁ%mﬂm%?
(1) 2-9=teT (2) 1-=331e |

(3) 2-s2ty (4) qsﬁuaa—qfaﬁ TSI

Benzene diazonium chloride reacts with phenol in a weak basic
medium to give :

(1) diphenyl ether (2} p-hydroxy hzobcnzcnc

(3] chlorpbenzene {4) benzene

it ¥ Ty FNZE & AfufFar fedrr 3 2R
e d w0 R R orw ey B » g

(1) T¥eFe fav (2) FT-EEgITR o=

(3) TRArTE {4) S

The reaction of toluene with chlorine in the presence of ferric chloride
gives predominantly :

{1)  benzoyl chloride (2) m-chlorotolhiene
(3)  benzyl chloride 4) ©Q and p-chlorotoluene

12
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g FIFET (Tolue ﬁmﬂ%ﬁ'ﬂﬂ%mﬂﬁa‘ﬁiﬁwiﬁ
aqﬁqfaﬁamﬁgﬂﬁtmm%

(1) ¥=SiET FAES L (2) ReT-andetgEa

(3) AT TS (4y airat 3T F-aAeTER
1-Chiorobutane on reaction with alcoholic potash gives :

(i} 1-butene (2) 2-butene

(3) 1-butanecl (4] 2-butancl
l-mmm%wmmam%:
(1) 15321 - (@) 2532

{3) 1= (4) 2-=ge-teT

Among the following which onc is the most basic ?

{1) Aniline (2) . Benzylamine

(3) P-nitroaniline (4) Acetanilide

£ A B s sda ¥

(1) afRiH (2) AfAe AT

(@) Ar-rgEeE (4) CREATIES

The complex ion which has no d-electrons in the central atom is :

ﬂ@ﬁaﬂﬂﬂwmm@ﬁ@éd A AW
(1) MnO; (2) Fe(CN)}

R @ CotH,Y}

13 PX.0.
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. ’ i
37. {NH)), Cr, O, gives on heating a gas which is also given by :

(NH,) Cr, 0, ™ &Y 9 & e Pricten 8, @ e Rree B
(1} NH, NO, : (2) NH, NO,
(3) Mg,N, + HO (4} Na metal + H,O

38. Native silver metal forms a water soluble complex with a dilute solution
of NaCN in water in the presence of -

(1) argon (2} carbon dioxide

(3] nitrogen (4) oxygen

wwﬁmﬁqﬁ?mgﬂgmcm%ﬁrw(mﬁﬁ)%mﬁawﬁmaﬁ
Surafr ¥ o F Preaete S e e B

(1} @ (2) wE 3E olfaEs

39. The number of Lone pair (s) in XeF, is :

XF, 5 S st g o wear ¥ -
(1) 1 (2) 2 (3 3 - 4 4

40. A positron is emitted from Na®. The ratio of-the atomic mass and
atomic number of the resulting nuclide is :

 Na® ﬁﬁmﬁwlt;.wmﬁmﬂmmw
YA HHIE B WHAR B

22 22 23 23
ST S T & @ -

14
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41,

43.

14U/ 102/ 264iii)

A monoatomic gas undergoes a process in which the ratio of P to ¥ at.
any instant is constant and equals 1. What is the molar heat capacity
of the gas 7 :

%mﬁ'm;ﬂ%WW%MWW

3R 4R 5R
(1) © @ 5 ‘

For a first order reaction :
A — products
|A] changes from 0.1 M to 0.025 M in 40 mins. The rate of the reaction

where |A] = 0.01 M is :

gaw Mfe o sfafen $ [,
Aa_m-_ o

T [A] 40 ﬁ'at'ﬂu.man.nzsmaaﬁqﬁaﬁﬁém%,%ﬁmﬁm
& @t o9 [A] = 0.01M Bt : -

(1) 6.94 x 10~ M min™' (2] 1.73 % 10° M min’!
(3) 3.47 x 105 M min"' - {4) 3.47 x 10 M min”

During depression in freezing point in a solution, in equilibrium are:
1) liquid solvent and solid solvent

(2) liquid solvent and.solid solute

{3) Hquid solute and solid solute

{4} liquid solute and solid solvent
mﬁwﬂﬁﬁaﬂﬂ%mﬁfﬁﬁaﬁﬁm,m:

(1} =7 Foas aen 319 fGama®

(2) 79 faemas @ 3| ey

(3) = @ @ S ey

4) v . ooy e R

15 P.T.O.
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44,

45,

47.

Which one among the foltowing is diprotic ?

= A Fr-ar i 2 7
(1) HJ F'{}n2 (2) Ha P(le {3) H;. P'li:-4 {4} H;l BDS

The pH of 10% M solution of E-EIEI':”JI4 in water is :

(1) between 6 and 7 {2) between 7 and 8

(3) 8 (4) between 8 and 9

e & 10° M HCIO, % fawas @1 PH @

{1} 6Ter 7% dg # (2) 7T 8 i H

3) 8 (4) 8T 93 e o

When two reactants A and B are mixed to produce C and D, the
reaction quotient (Q} in the beginning of the reaction is -

(1) Zero : {2) decreases with time

(3) remains unchanged with time (4} increases with time

mﬁaﬂWAaﬂTBﬁaﬁ%ﬁrcaﬁ?Dmﬁ.aﬁmﬁﬁm
%mﬂmm{oxm:

(1) g (2) 9 B "ry w2
[3}m%ﬂmawﬁaﬁaﬁzn[4jm%w@n

Equal weights of methane and OXygen are mixed in an empty vessel
at 298 K. The fraction of the total pressure exerted by methane is -

Qm@sﬁaﬂqﬂzgsxﬁmwﬂ%amanmﬁ%Wﬂn
ﬁfﬁah&ﬂﬂﬁ%nﬁrmﬁﬁaﬁéwaﬁrﬂmm:

U @ 3 @ 3 )

B

16
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49,
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Bohr's model explains :

(1} the spectrum of hydrogen atom only

(2} the spectrum of an atom or an ion containing one electron only
(3) the spectrum of a hydrogen molecule

(4} the solar spectrum

A T HISH AT FET 8

(1} F9 H atom & WA &

2) B K qoaep W ol @ A R e o R @
(3) ETEERTT oY B WRH R

(4) g4 B W B

In the titration of Na,CO, by HCI using methyl orange indicator, the
volume required at the equivalence peint will be if that of the acid
required using phenolphthalein indicator is 10.0 m! :

(1} . 5.0 ml (2) 10.0mlL (3] 15.0mi (4) 20.0 ml.

Na, Co, & HCLERY A @t &, orefs Aft o=t goss &,
mmmﬁwgmﬁwgw,qﬁﬁmﬁﬂwﬁﬁﬂw
7T 10 ml. AGas ar X, &l o

(1) 5.0fodo (2) 10.0@oiio
(3} 15.0Fofllo (4) 20.0fHowo

The total number of electrons present in 18 ml of water is :
18 fretfio w17 & o Rt A Hoar ¥

(1) 3.346 ¥ 109 (2) 6.023 x 107

(% 4023 x 10% (4) 10.841 x 10

17 _ B L X3
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51.

52,

53.

Section - III
.gqvg - 11

Physics and Mathematics
{Physics)

E, m, 1 and G denotes energy, mass, angular momentum and

gravitational constant res_pcctively, El*/ (m® G* has the dimensions of :
(1) Ampere (2) Mass (3) Length (4) Angle
T, W, ol W T Qe PR HE: B, m, | e G
aZRT sl & ar, EP/ (ms GY) R dm-

(1) =R’ (2) = (3) TR (4)  THroT

In a clockwise system : which one is correct 7
aférres forprg & v wdr & 7

(1} jxk=j (2) ixi=0 (@) jxjso0 (4) Ixkx0

If the torque of the rotational motion about the given axis is zero then
the constant quantity about the same axis is

(1) TForque . ' (2) Angular momentum
(3] Inertia (4} Moment at (nertia
ﬂﬁﬁﬂﬁw%mwmaﬁwaﬁﬁmqmaﬁr |
IH 9T & ANy B RaT R 7

{1} wel-amepet (2) =i g3
(3) SI== (@) I=a syt

18
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854. The height of water fall is 50m. Calculate the difference temperature

56.

3)

of water at the top and bottom at the fall.

[J = 4.2 x 107 erg/cal and g = 9.8m/sec’}

U A9 YO & SaE 50 #eT 7)) gua & i qun qaedt @ 9™
ST § arg # =1 W Torn AT )

[J = 4.2 x 107 3 A ol g - 9.8 #/&7

(1] At =0.4351°C (2) At =0.3125°C

{3) A= 0.1167°C (4) At = 0.0167°C

A man weighting 75kg lift a body of 25kg to the hight of 10 meter in 5
minutes. His power is :

(1Y 7.33 J/sec (2) 8.33 J/fsec

(3) 9.33 J/sec (4) 10.33 J/sec

25 R e & W% st 25 R P B T 10 AeT HEE
gz 5 e & qfwan &) sEh afR 2-

(1) 7.335 /8o (2) 8.333F /"o

(3) 9.33F/9o (4) 10.33 9J1/Ho

A sphere of mass 'm’ moving with velocity "W hits anather stationary
sphere of same mass. If '¢’ is the coefficient of restitution what is the
ratio of velocities of two spheres after the collision ?

m' B F O Cu A § TR e §9E EEEE & T S
Rer MR & TUa B ot Redigam oits o 8 & 24 B W%
[t Wt B T @ TR T BrT-

_‘f_(ﬁ] 2 L[l_ﬂzf
¥V, \l+e (2} , L1

(4}

(1)

19 ».y.0.
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57.

58.

99.

If tinear momentum of a body is increased by 50%, its K.E. will be
increased by :

gﬁﬁ%%ﬁﬂﬁaﬂﬁmw@aﬁqﬁﬁm%ﬁmmwﬁ
(1) 50% (2) 100% (3) 125% (4) 150%

A sitmple harmonic motion has amplitude 'A’ and time period "T'. The
maximum velocity will be :

U G HET AT Bd 998 ST A 99T ST & T & ar

_offiERgs @ @b ]

(1) 4AT 2y = (3) 2aJAT [(4) 2mAT

A particle moves such that its acceleration 'a’ is :givcn by a = -bx. The
period of oscillation is :

TF TRET FHoT H @07 ‘o' fRar @ 7€l a = -bx B 1 3901 ordd &
EEI"TT:

(1) 2xb (2)  2x/Jb (3) 2a/b (4) f2xib

A block of wood floats in water with two-third of its volume submerged.
In: o1] the block floats with 0.90 of its volume submerged. What will be
the density of wood? [0 = 107 kg/m?)

{1) 334 kg/m? {2) 445 kg/m?

(3) 556 kg/m? (4) 667 kg/m?

U TEI BT ot & =¥ INGAT F=X B aear & 3
%Wo.gmgﬁmw%hmw%wﬁln?

[ £,= 10° Rrmr/dn)
{1) 334 frgy/Hp (2) 445 R e
(31 556 fpam/Hp - (4) 667 RHmy/+r

20
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A gale blows over a house. The force du:e to gale on the roof is :
(1] Dowmward (2) Upward (3) Horizental (4) Zero

o 39 I T B FU @ T @ T o B HROT qET B v
qT a5 o |

L) AR e (2) H9T H AT

(3] SHiEFT g A (4) =

What is the bulk modulus of water it its volurne changes from 100
litre 10 99.3 litre under a pressure of 100 atmosphere ?

(1) 2.026 x 10° N/m? (2) 4.086 x 10° N/m?

(3) 6.861 x 10° N/m? (4) 7.861 x 10° N/m?

a1 T SR JOie F49T 81, ST 100 FET S 100
HETSAIE T 9% 99.5 ey H afiEfdw & s B ?

(1) 2.026 x 10° =g/l (2) 4.086 x 10° YT/ H1

(3] 6.861 x 10° eA/HR (4) 7.861 x 107 &TA/AP

An observer standing at sea coast observes 54 waves reading the coast
per minute. If the wavelength of the wave is 10m-What is the velocity
of wave ? :

(1) 9 m/sec (2) 10m/sec (3) 12 m/sec {4} 16 m/sec
UF g% B A @er SuE 9w AT # 54 adl @l T e
%) ot geed 10 deT & Y a7 B0 AT g Ehm ?

(1) 9dlo/qc  (2) 10Ho/8o(3) 12Wlo/8o (4} 16¥lo/Fo

What is the maximum possible sound fevel in dB of sound wave in
air? If o, = 1.3 kg/m?3, v =332 m/secand P =1.01x 10% N/fmé?,

arg § SifrRes @ W WX dB 7 & &m 7 AR p, - 1.3 By
#{P, v = 332 ;’ftu;ﬁ?mw 1.01 % 10° =EF/HP, |
(1) 100dB '{2) 150dB (3) 190dB. " (4 $00dB,

21 gry 3
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63.

66.

One litre glass flask contains some mercury. It is found that at different
temperatures the volume of air inside the flask remains the same.

What is the volume of mercury in this flask ? If coefficient of linear
expansion of glass is 9 x 10%/°C while of the valume expansion of
mercury is 1.8 = 107 /°C.

% dled & W9 P e d {E AR 2 9% 9 T &
ST - YA U FMEeh B =L A I AT TH & 8 |
TR @ ATATE FO B e @ ot 7 daft 9l @ e gan
T 9x1076/°C X AT FAR ToNH 1.8 x 104/°C &)

(1] 3CGcc (2) 75cc (3) 100 ecc 4) 150cc

Two plates each of area A, thickness L, and L, and thermal
conductivities K, and K, respectively are joined to them to form a
single plate of thickness {[, + L ). If the temperatures of the free
surfaces are T, and T, what is temperature of interface ?

g A Pt o@E @ SEwa AR, drerd Lowew L, T men areean
K, @91 K, 8, & SBHT (L, +L,) TS AN O I S991 IR0 B ) iR
A gt @ argdE T, a9 T, 8 @ IWAHTs. sl araH 41 007

ke ey

(1} [h L (2) L, b
K, K, K, K,

L L L. L

] e
(3) {1., . L_;,_} (4) P"* L,
K, K, K, K,

22
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67. The variation of the volume with pressure of a fixed amount of gas

has been shown. The change in internal energy of the gas will be
shown by :

fa% gu Paa s=mE @ T oS qur sigae @ g a6 aiges
Ramn T 2 g & ot Sot § ufteds e gra swian
0

() @) %{
————
4 Y
@ | &7 @ | 4

¥ — 3

68. A glass prism of refractive index 1.5 is immersed in water (p =4/3). A
light beam incident normally on the face AB is totally reflected to
reach the face BC if :

1.5 ogatTies & 9 & &mq'qﬁﬁ G 4/3 21
e A8 AB 9T FHET i [5 !réégi%ﬁﬁiggimﬁﬂﬁ
¥E BC WX UEA AR X

- =
=20 ==
s B 2 aiena B e 2 8
(1) ,SEH}E‘_ -.‘52] ghSmB}g {3) _Sinﬂﬂg (4) Cusﬂaa

23 _ . P.T.0.
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&9. Light is incident normally on a diffraction grating through which the
first order diffraction is seen at 32°. The second order diffraction will

be seen at
(1) 48° : (2) 64°
(3) 60 : (4) No diffraction

o AE fror @ wue %9 & @daE, 320 91 Rdes 3fem @ g
e AT ®F 97 ser s X R & = faendw el

(1) 48° {2) 64°
(3) 60 - 4) m Rdas Tkt

70. The resistance R of a conductor varies with temperature as shown in
figure. If it is written as R, =R (1+ ot + M + &t"):

4 Resistance

.
L

Temperature

{1] a& P are positive but § negative
{2} o is poaitive f & § are negative
(3) u,p & 3 are positive

(4} a.B & § are negative

24
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wwm%w%@aWWﬁm%
aft s S RE ST R, = R,(1+at+ U+ 8 a

E

yfere

w

am™

(1) o T p TEE, § WOTRHE N
(2] o AT, p AU § FOWSH B
(3} qo.p T § TATS BN
(4) o,p T § FONSTE B

71. In acopper volta meter containing copper sulphate solution, a current
of 1 ampere is passed for 1 hour. Taking the E.C.E. of copper as
0.000329gm/coul, the weight of copper deposited is approximately.

(1) 0.6gm _ (2) 1.2gm

(3] 0.12gm (4] 0.0329gm
aﬁ%ﬁw@ﬁwﬂﬁmﬁaﬂﬂw%lq@?aﬁ
)\ o4 | e o SRS & T B ard @ So o o 0.000329
mxwmﬁ@ﬂﬁmmmmﬁvm

(1} 0.6 WMo (2 12 e (3 01230 (4} 0.0329 WMo

?3. Curie temperature of lron is that temperature below which it is :
(1) Ferromagnetic (2) Electrically conductive
(3 Buperconducting (4) -Radicactive

25 ' P.T.O.
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73.

74,

T8,

R R g aEe g g 2 R 0 g s

(1) cheg=Fig (2) Fgefra T
31 e 4) IRy

The wavelength of K, in X-rays produced by an X-ray tube is 0.76" A.
What is the atomic number of the anode material at the tube ?

x-ﬁﬂwﬁwmmxﬂa#ﬁﬁaﬁrmu?am%mﬁm%
UAre gk & qET] wEar & 2 |
(1) 10 (2) 20 (3) 30 (4) 40

Calculate the mass in grams of a radicactive sample Pb?!* having an
activity of one microcurie and half-life of 26.8 minutes.

%I%&}qﬁeaﬁnm.%ﬂ”%mma%mﬁwﬂ%ﬁqﬁmzﬁ
HIEhT O AR T srdomy 26.8 fre B

(1) 3.05 x 10-° gm (2) 3.05 x 10" gm
(3) 4 %105 gm (4) 4.5 x 107 gm

A semi-conductor has an electron concentration of 4.5 x 10! m2 and
4 hold concentration of 5.0x 1020 m*. Calculate its conductivity. Given
Be =0.133m? vis?, . =0.048 m? v's! -

Q% e ¥ gRiaE 9 Ay 4.5 x 100 Ho T B S qrEar
S.0x10%H13 ) Ioht vt @ oy AR | Ry & p, =0.135
W7 qiee @,y = 0.048 oY 2 e 19t

(1} 3.8x 10? sm! (2} 1.6 am!
{3) 3.84 sm! (4) 6.84 sm!

26
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{(Mathematics)

If a function f : [0, 2] IR, where |Ris the set of all real numbers, is
defined by

S =(2-x°)" . vxe[0,2]

then (f o ) {x) is equal to :
(1) 2 (2) x (3) 10 4 2"

R wd B £: [0, 2] 5 R, e IR A aTEias S H HI=H
g,

Fixy=(2-x" " wxel0,2]

T oA B, @ (fof) () TRET ® -
(1 2 (2) = 3y 107 (4} 2"

s+ x + 1 =0 then the value of

2 1
(g (e) o) o
x X X

ﬂﬁ'x*#-x-rl-ﬂ-%?h

foy _ 1V .1 3
{x_+—-]§+-[x3+—}) +[x3+-’~;} & HIA B
%) xJ X

(1) 2 2) 4 (3} 8 (4 0

2‘7 : P.T.O.
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r Lo

1+2i+388 ‘ 1
78. The value of T-2it3; ‘.wherei= J7 is:

| +2i + 3i°

Tooiss H T i= T, @ oA R

(1) 1+i (2) 1 (3) = (4} ©

w " L] ] m X
™ I K=Z(2J and }'=Z[‘3—) then = is:
pr LWL ) Y

(1) e v x X s
an3(s) S va e
1 3 2 ; 4
M 3 2 3 3 3 @ 3
80. If “c, = "¢, then the value of “C,y 18 :
(AP ="'_c.&-Eﬂ' "¢, & HF 3 :
) 20 (2) 21 (3) 22 (4) 23

1 ] H
B1. The valuc of the term independent of x in the expansion of (H + "?J

X
15
(1 e, @ e
3] e, (4] none of these

28
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[x+%}_ﬂ%mﬁxﬁﬁﬂ?ﬂqﬁiﬁrﬂﬁ%:

X
(1} e, ~ 2) e,
@B e (4) T { @ T

- "1 .
83. ;;;;-22 is equal to :

{1] 2e (2} ©
3] e _ (4) none of these

(;%’3‘-’] quae ¥

{1} 2¢ . 2y O
3) e ! (4) =T § Frg T8
83. The rank of the matrix is :
=R B FHife . 3
1 210
21 20
Ag
2 210
1 21 0
1y 3 @ 2 (3) 1 4) 4

29 - IT.0.
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B4, Ifx, v, zarein Arithmetic Progression then the value of the determinant
is :

af% x,y,z FEFAR AR H ¥ & |reoqy @ w2 -

3 4 1+2x
4 5 1+2y
5 6 1+2z
{1y o @ 1 3) 2 (4) x+y+z
85. The angle between two curves represented by 2x? + Sy + 3y? + 6x +
Ty +4=0{s;
J 1 I
(1} tan ) (2) tani 5
!
(3] tan'{3 (4) none of these

2%+ 5xy + 3y? + 6x + Ty + 4 = 0 &1 s=fifor & q&t & A T Froy
g |

86. The value of lim []+3J‘+ ax'vxtal |

Jim([l+£]r+ xle x4l
mxs x'-100x+200] BT B

(1) e?+ 4 (2) e+a {3) e*+4 {4} 4

30
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87. A function y, IR = {-1,0,1} is defined by

. 0<tet

1
vy 0=l S Sl

'), otherwise

The number of points where y, is discontinuous is

ATEA IR = [-L0,1)

f

1, {}E.h:l
J 2
1
t)=+-1, —==<r«<l
Yy (D) 3
0, e

.mqﬁwﬁﬁ%lﬁgﬁa&#@mﬁﬁw”mﬁ%:
(1) 4 (2) 2 @ ! Ty 3

d ’I v
88. The solution of the differential equation d_i = I_:F , given y = 0 when

x=0,is:

_2
WW%= %,ﬁ'ﬁﬂ%y-{} o x =0, &7 &

(1) tan'y=Xx (2) },r=tm'l"x{3]-3,1{-1.n _ 4) }r-:x

31 9.T.0.
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89. If v = sin [sin x) then

d’y 4 _
d—;*'itanx + y cos? X 1s equal 10 :

i y = sin [sin x) & @Y

d'y  dy

—_— A —— 2 .

a7 du tan x + y cos? x FET & :

(1) cosfsinx) (2) tanx (3) x | (4]

. Iy
90. The maximum value of [;] ,in 0<x<w,is:
] [
(1] a1 oex<ew # otftrmmy o B

(1] e (2) [i—) (3) ¢ (4)

=
91. The value of im» — s .

ral] ntr

(1) log3 (2) log.2

(3) ") (4] none of these

=
li i
limd ~ & A ¥

(1) log,3 (2) log,2

@ @) =T A RE

32
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The value of I

I+c¢.:'.~t 18 :
;!:H::ul‘.x F A E
x T
1 5 @ 5 3) . 4 2x

If 5.b.c are three vectors then the value of 6.'?}(5 sa)xfd+brcllis:
% 4 b.¢ o= wieer & ar E.|(E+5)><(£+E+E)]Efﬂ TR ®

(1) © ' 2) [ab.¢]

(3 2[ab.é] | (@) 3[a.b.¢]

A bag contains 3 white, 3 black and 2 red balls. One by one, three
balls are drawn without replacing them. The probability that third

drawn ball is red

ush AT 3 EHT, 3 ey ohT 2 et I TR B | OF-UH KT dF g,
frer g 99 F BT, P T | et el @ R & a1 R

THERAT & |

1 i i 1
m 3 2 3 3 5 4 5

33 . P.T.O.
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96.

Il tana =3, 180° <@ < 270°,then sina is ;

i -fi (2) .-—‘;—5 (3) ;— (4) none of these

A% tana=+3, 180° <a <270°, A sina ¥ :

3 1
-5 2 - @ 3 @ g9 o FE TE
Inany AABC,if 2 Cos A= ';— then triangle is :
{l) equilateral (2) isosceles
(3) right-angled (4) scalene

Bt A aBC ﬁ,ﬂﬁﬂﬂusﬂ=§%%ﬁﬁrﬂﬁr%:

(1} == (2) wHfEETg

- = | '
If {a"}n_rls a sequence such that &, =Z;;- VreN where Ny is the set
. X - H

of all natural numbers, then 1’_{2 &, s :

A o, wH T orgem ¥ By a,=3 - VreN, omined

wu) R
TR HWeArsdt &1 ageaw B, & lima, ¥
(1) o 2) 1 (3) e-1 (4) 2

34
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Find the equation of one line in xy — plane, which passes through the
point [3, 4} and the sum of its intercepts on the axis is 14,

Xy o H, @5 Tar H GBS ffsm, o (3,4)A AT & e et
qT 99 T o7 ©YET W 4T 14 ¥

[ |s.¢
+

|-
Ik

=1 {3 -x'*}“‘-? (4}

| ¥

m 3

Y L

X
=1 (2] 6 +

A variable line passes through the point of intersection of the straight

X
lines i;_+ % =1 and 2 "'-';-=l and cuts the co-ordinate axis in A and B

respectively. The locus of the mid-point of AB is :

o = Y e oot SeY=1 ofe XeLoi @ e Rrg @
et ® qon P ot B Fmen A R B fag qu @R €1 AB
% Ay fag o Rga @

1T 11 11 o1 1
m YTy @ gt o@ oyt @ <7

100.The centre of the circle x? + y* ~4x + 2y - 11 = O is:

gd x2+y?-dx+2y - 11 =0 F=H & :
(1) (2,-1 2} (2,1} (3) (-2, 1} 4} 2, -1)

35 P.T.0.
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Section - IV
WS- IV
Botany and Zoology
{(Botany)

101, The fungus commonly known as bread mouid is :

{11 Pernicillium (2) . Aspergillus
(3) Rhizopus (4] Neurospora
HHFaAl AeHes A § A 9 a5 59% ®
(1) T (2) CwyTHTT
(3) W (4} GG

102. The isogamous mode of sexual reproduction is found in :
{1] Phytophthora (2} Polysiphonia
{3) Spirogyra {4) Riccia
s oaeerr # REf oo Reedt g s &
(1) By (2) GiEERaT
(3) TEIRET (4) Rirgr

103. Which one of the following microbes serves as a suitable biofertitizer
i the water-logged paddy fields?

{1] Aulosira (2} Albugo
(3) E. coli (4}  Ulothrix
ﬁﬁmﬁﬁﬁaﬁq%wwﬂ%m%@aﬂmmﬁ?
(1) S TET (2) e} -
(3) o Fidf @) getErrg

104.The early blight of potato is caused by :
f1]  Fusarum (2) Ustilago
(3) Alternaria (4] Albugo

36
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Ay & A ST D B B B

- {1) g 2y oreiermt
(3) eI (4} ST
108, Methane is a biogenic gas produced by a member of -
(1} Eubacteria (2) Archaea
(3y Eukarya . (4) Protista
Prder o Silgsfa 9 e o s gra saRa exft 87
(1) sgd=RT (2) oielbar
(3) IFHeaT 4) mifeer
106. Which one of the photosynthetic pigments is water-soluble?
(1) - Carotenoids (2) Xanthophylls
(3] Chlerophylls | (4) Phycocyanin
fr=r # & ra-ar oF g Feamisy gots aet ¥ geasfie g 87
(1) HR=S (2) it
(3) FErAfe (4) HEREE
107. Lignin is the most important constituent in the cell wall of
(1} Parenchyma ' (2) Cambium
(3} Xylem : (4) Phloem
R sfafaire gew Rea Hiber 3 ffa & 8 8 7
(1) Y=rgmn (2) Dftegm
(3) S . (4) wAEH
108. Nitrification is the process of the bacterial conversion of :
TaRERa ftere] ara SR B oE R #
(1) NO, to NH, (2) N, toNH,
8 NH toN, (4} NH, to NO,.

37 B.T.0.
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109.The seed in the angiosperms develops form a the
i1} Owvule (2) Carpel (3) Embryosac (4] Anther

et & fior feg o O iy aar &
1) oirgw (2) O (3) wAEE B (4) wuv

110.The Botanical Survey of India is located at :

(1} Lucknow {2) Howrah

{3) <Cuttack (4] Bhawnagar

WY B AAF T (5w e wenfrg & 2

(1) TETH (2) BEST (3] e (4] WG

111. The most important function of microtubules in the eukaryotic cells
15 ta :
(1} form mitotic spindles (2} excrete cellular wastes
(3} form ribosomes (4) help in respiration

ﬂ%ﬁﬁ&miﬁﬁmﬂ‘m@ﬂﬁﬁﬁmm%%
(1) w=Eeies affsa F=3 o

(2) PR F sEUEE gEef @ vae
(B) TR Bl 9 =REm & oaser
(4) GAAEE saE § § wferar

112, The protonemas stage of the moss plant is a :
1) Haploid {2) Diploid (3) Triploid (4) Polyploid

ﬁﬂﬂtﬁaﬁwmwmw%;

1) P 2 Rafa (3) R (4) TgRE

3s
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113. Which one of the following chemical ions holds togcther the two
-subunits of 705 nbosomes?

{1) Calcium (2) Sedium  (3) Magnesium {4 Iron

fﬁmﬂﬁaﬁa—mmﬁwmsr@ﬁq%a‘rmﬁﬁ%m
I8 TEAr B- :

(1) Hfeam (2) "Rz (3) AR (4 smsE

114. Which of the following is a non-proteinaceous enzyme?

(1] Lysozyme (2) Ribozyme
(3] Lipase ' (4) Taq polymerase
frA g § 3 o Re-dde S oo & 7
(1) e (2) TEEoNET
(3} A (4) % QAR
115. 'Opium'’ is obtained from which of the following parts of the pislt-nt 2
{1} Roots {2) BSeeds
(3) Leaf-buds (4) Unripe capsules
9t & BFE uh W 8 ‘ST wra B 7
(1} =1 4 (2) & &
(3) i P HN A (4) STUTFH Bagw &

116. Which one of the following enzymes helps in the fixation of C(jﬂ by
green plants?

(1) Urease (2) Rubisco (3) Lipase (4] Ligase "
?ﬂﬂﬁﬁquﬁd‘rﬁﬂm %ﬁuﬂwﬁmé\?ﬁ

W @ e @) mh ® -am

39 : .r_r'.'rm.
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117. Which of the following is the main cause for acid rain?

(1) Ozonec depletion (2) Increased level of UV-B-
(3) Rise-in green-house gas (4} High level of SO, in the
atmosphere

frea & @ #9 o e awi & 9qa FF 8 7
(1} o= A7 e

(2) UV-B @& 9= ° oged

(3) 9 arsa | 9 gga

(4) SO, ¥ TETY ATAT AgHSA H

118. Which one of the following pairs is correctly matched ?

{1) Streplomyces - Penicellin

{2) Gelidium - Saprophytic

{3) Agaricus - Mushroom

{4) Azoltobacter - Photosynthetic
Fr= gt 8 '3 a9 giafaa & 7

(1) TorEdHT - o

(2) AoZgy - amifefes

3) FRET - qIEH

(4) CoelgEaT - - i

119, The haploid plants arc obtained lrom :

i1 Pollen (2} Zygote

(3] Sreed germination 4] leaf cells

AniE N FREd g dar 8 7

(1} T ' (2) A

(3] HAHERE i (4) T 3P FEER

40
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120.The erythromycin antibiotic is the killer of- _
(1) Fungi (2) Viruses (3) Eubacteria (4} Green algae

et T R R T ¥
(1) a=® 2) F&m'g (3) FR=REr  (4) ] Em

121. Which one of the following endosymbionts is associated with the

carolloid root of the Cycas?
(1) Rhizobium (2) Anabaena
{3) Frankia (4) Azospiriium

ﬁﬂﬁﬁzﬁﬂqﬂim%mmﬂ@ﬂmﬂﬁﬁ?m
qHew 8 7

y  EEEE (2) QHRAT

(3) BT _ 4) QoI
122. Aril is the edible part of which fruit ?

{1} Litchi (2) Mango

(3) Banana _ (4) Appie

P & TiRE W ey o 8 7
{1) et (2) =™ (3) A (4) 84

123. Plastocyanin is the metalioprotein that cantains :

m@ﬂmﬁﬁwﬂzﬁr—m%mﬁwm%?

1) -MO (2) Zn (3) Fe (4) Cu
324, Endosperms of angiosperms are -
{1): Dipleids (2) Haploids
. 8 Rerroploids (4) Triplaids

41 P.T.O.
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e & g @ @

(1) faife 2) aforg
(3) = (4} Brfr

128.The credit of ‘Green Revolution® in India goes to :
(i) B.P. Pal {2) M. 8. Swaminathan
(3) R.P. Roy (4} P.K. Gupta '
AT # aﬁamﬁr%ﬁ-‘m%ﬁwm% ?
(1) o qo gra (2) o THo @i
(3) HAo dlo (4) do o Ty

42
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(Zoology)

126, Five kingdom approach of classification was suggested by :
{1) R.H. Whittaker (2) Carolus Linnacous
i3] Casper Bauhin {4) Thomas Jehnson

mﬁmﬁaﬁqﬁawq@ﬁraﬁwwm: |
(1) Y. oo, Feeey & g (2) Waw W S ar

(3) PRI WA & B (4) @AY SEA O
127. Zoological name of domestic dog is :
(1) Felis indicus (2) Equus caballus
(3) Canis familiaris (4) Canis vuipes
T HY P g Aefre E #
(1) #ag 35y (2) $99F FATH
(3 Ffw HEfaaRE - (4) Pfrag gEE
128. Liver fluke belongs to phylum :
{1) Aschelminthes (2) Platyhelminthes
(3) Annelida ) {4) Ctenophora
g i |@g § aatud 2o
(1) TEheiEe (2) SRR
{3) GRSt , (4) TATBIT
129.Which of the fallowing is not characteristic feature of phylum
Chordata?
(1] Notochord (2) Dorsal hollow nerve cord
(3} Ventral nerve cord (4) Paired Fhaqngca] gill slits

43 _ r.T.0.
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Frefafas & 4 3T FSer o9 0 oo T8 ¥ 7
(1} s (2) = @reen @R 9
(3) " gy e o9 (4) T meit Ry

130.Which of the following is egg laying mammal?
(1) Flying fox (2) Kangaroo (3) Blue whale (4} Platypus

frefifaa & @ @ syt I g T 2 ¢

(1) TS WiEd (2) HIS (3) et 2= (4) FHETH
131. The epitheliat cells found in our lung are classified as :

{1) Simple epithelium (2) Compound epithelium

(3) Squamous epithelium {4) Glandular epithelium

BT B6S & Uil S arelt wiifefrae SRt Brr ¥ @ Pr o
it @t St ®

(1) =muRer afifdriems (2) "@gF @ty

(31 =TEhl wdifafagn (4) Fiftrer Thfaferr
132.Excretory organs of earthworms are called :

(1} Metanephridia (2} Solenocytes

(3) Malpighian tubules (4) Green glands

(1) Terhifeay (2) HATEEE.
(3} Hediftmsr Aferand (4) ¥ wferr

133.Typhlosole is found in the alimentary canal of -
(1} Cockroach (2) Pigeon {3] Earthworms (4) Fish

CHEAEA, FRTA A el o @
(1) Be=zer (2) weav R).FgAN  (4) guH
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134.Which one of the muscles proteins shows enzymatic activity?

135.

136.

(1) Actin (2) Myosin

(3} Tropomyosin {4) Troponins

F-dt v e NI RBroas gfbgar & waiEa s 8 7
(1) oA (2) \TEfE= '

(3) TraEEEs (4) TYATH

Which of the following animal cell organelles contains genetic
machinery?

{1} Lysosomes . (2) Golgi Complex

(3} Ribosomes (4) Mitochondria

Wﬁmﬁﬂﬁﬁﬁmﬁmmﬂ%ﬁm

(1) STEEEH (2) T WERRT
(3) TEIE (4) HEFEERTOEAT
Removal of the terminal phosphate group from ATP provides energy

by cleaving :

(1} Glycosidic bond

(2) Phosphodiester bond

(3) Phospheoric acid anhydride bond
{4] Phosphoric acid ester bond

ATP® BIT 9T Wiede HIE B IR @ Soit s ara s
s [

(1) 7oshaEs T4

(2) BITRSFUET &Y

(3) BIERiTH T TAERZES 9

(4) SRR I TET T4

.4 5 ’iT-I-D-
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137.The tissue that maintains the normal blood glucose level during

fasting?

(1! Skeletal muscies (2) Liver

{3] Heart _ . {4) Pancreas

4% FdF M TR BT B IUGH B A AFA FHE TGl § o
(1) *hepred QfFTET (2) T

{3) &9 (4) ST

138. Which of the brain lobes is associated with execyutive Tunctions?
{1) Occipital lobe (2) Parietal lobe
(3} Temporal lobe (4) Frontal lobe

Afees w1 AT a1 Rvsd geamion w1 Y aatag & 7
(1) i g (srgmuriig fvs)

(2) Tew Ry |

[3) 20 s

4) g foe

139.Na"-K* ATPase purﬁp is :
(1) an anti port ion channel (2} a symport ion channel
- (3) a ligand-gated ion channel {4) a leak channel
Na'- K' AT Pase 97y & :
(1) = Fr gfrodt go At (2) 98 g9d s A
(3) =% drvT-A2T o At (4) Ram we
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140, Which part of dpermatozoa releases enzymes needed for fertilization?
(1) Middle piece(2) Tail (3) Acrosame (4} Head

AR & | A § FiET & B3 otavas oaw g |
??

(1} T& | 2) I& (3) wEHE (4) sfrd
141. Glucose and fructose in sucrose are linked with :

{1} pu-> 2]_ glycosidic bond (2) B0 — 4) glycosidic bond

i3] afl »4) glycosidic bond (4) &(l—>2) glycosidic bond

g | gt oY e w7 @ A ¥
(1) p(1-2)ERTaE T (2) BQ— 4)TEHIAIEE T
13) a{l— 4 EniafEE 9 (4) a(l—s2)TAEHRIAES T

142.An mRNA with a sequence 5'- UAA GAC AGG CGA UGC CUA-3' is
reverse transcribed into cDNA., Which of the following has correct
sequence of the cDNA?

% mRNA RTE® %9 5'-UAA GAC AGG CGA UGC CUA-3' Semvia
g cDNA & & ot ¥ | Pr=faferg & § 29 @1 cDNA &1 @
w R ?

(1) 3"-ATT CTG TCC GCT ACG GAT-5’

(2) 5’-TAG GCA TCG CCT GTC TTA-3’

(3) 3™-AUU CUG UCC GCU ACG GAT-5’

@] 5'-UAG 6CA UCG CCU GUC UUA-3"

47 - PT.0.
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143.The theory that the first form of life could have originated from pre-
~ existing non living organic molecules was proposed by :
(1) Oparin and Haldane {2} Watson and Crick
[3) Stanley Miller (4) Louis Pasteur

Gﬁﬂ#%mwaﬁmgﬁaﬁﬁaﬁaiﬁﬁﬁmmﬁﬁ@,sﬂ
ez &1 wfmres Ry

{1) ofzm 3w Bew - {2) argET oY T

(3} 2= T (4) TUSW UTEET

144. Which one of the following is not an example of convergent evolution?
(1) Eyes of octopus and mammals
(2) Flippers of Penguins and Dolphins
(3) Limbs of man and fins of whales
(4} Wings of butter fly and birds

mﬂﬁmmmwww%?
(1) e ot maurd & aifg

(2) T AR Bl ot g

(3) T T B ot Ra B gy

() fraeht ol Frfedt & o

145, EcoR], a restriction enzyme, functions as :
(1) Endonuclease (2) Exonuyclegse
{3) Endo peptidase (4) Esterase

Eco Rl, U aft@q fvas, wrf grar 2 -

Q) et (2) TRy
(3) = JeEew (4) T
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146. Malignant malaria is caused by infection of :

n

{1} Plasmaodium vivax 2} Plasmodium malana
{3} Plasmodium falciparum . (4} Plasmodium gingivalis
Hqarel] #far & deduor w0 e X
(1) SrifEaT argdad (2) ArIETT THAT

' (3) ereifeTT bty (4} @rEiETT BT

147.51RNA standa for:

(1) Small intermediate RNA (2) Small interfering RNA
(3) Small interacting RNA  {4) Small intermuttent RNA
si RNA & aread B -
(1) @Y Hezecil RNA {2) Y FEIBITT RNA
(3) &g F=aET RNA (4) ¥Y AATAE RNA

148.The secretion of sebaceous gland is :
(r) Sweat {2) Tears . {3) Earwax (4] Sebum
qaa T wm et §
(1) ©&= (2) 31 (3) @1 &< (4) &raH |

149, Which one the following peptides is removed during maturation of
insulin?
(1) A chain (2) Bchain (3) C peptide {4] D peptide

F@?ﬁ%qﬁw%ﬁtﬁﬁﬁfmﬁaﬁﬁaﬁwwmm
x7 B
1) € yaw (2) @ Agem  (3) G ey ] (4] B TCES

4 9 A . P-Tnu .
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150.The interaction between two species where one species is benefited
and the other is neither benefited nor harmed is called :

{1) Mutualism (2} Commensalism
(3) Parasitism ' (4] Amensalism

%) W & i @ Brar g Bed e oo Oy amfaa Sk B
T gult 7 @ aw F el & ofic & geam & A6l R, wE ARft

3.
(1) T (2) FHTHTHRH
(3) -9f=itfaan (4) TR
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Section -V
"y -V
Agriculture
IEI.EDdD mixture is :

(1) | Fungicide (2) Pesticide (3) Weedicide (4)
=T P B
(1) wH ANE (2) RN
(3) WIGGEaR A9H (4) EdTaREs

152. Element required by plant for oil formation :
(1} Nitrogen (2] Potassium (3} Caleium (4)

g fFafor & fe wosl & g 9 sTaygsar e B o

(1) SgEeH (2) 9fdrmE  (3) feuery (4)

153.Percentage of oil in Castor :

g * o W ufdeE B |
(1} 52% (2) 44% (3) 62% (4)

154. Percentage of nitrogen in calcium ammonium nitrate is :

DT FEIEY AEee § WS &) WS AT @

. A1) 18% (2) 25% (3] 30% (4)

158, Highest percentage of nitrogens in stool of animali :

Herbicide

Sulphur

05%

35%

Horse

Hrst

(1) Cow {2) Elephant (3) Sheep i}
m%%ﬁw@m@aﬂmmﬂma :
(13 (2) e 3 W - @)

51
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156. Colour of Latente soil 15 :

{1) Red (2) Yellow (3) Green (4) Black
Aruge garedt & T #r ¥
(1) & 2y den (3) = (4) AT

157.Which of the {ollowing are features of Indian agriculture?
{l Disguised unemployment (I) High productivity

{Il) Majority of large farmers (IV) Gambie in the hands of
Monsoon

(1}1and II (2) I! and 111

{3) It and IV (4)  and IV

Fre d 8 &9 wdg Y & qeer 8 7

n fsdt SHemd () I I

am =2 fEarr @it orfiremor (IV) 9_gT H Jam

(h1afen (2) 11 T 11

(3) 11 PRIV _ (4} 13TV
168. The impact of Green Revolution was felt most in the case of :

(1} Wheat {2] Rice

{3) Pulses (4] Oil seeds

=Ra it F afresay waE P o @ ead owd sifes

EEI

(n (2) =& (3) =t (4) s
159.[n India maximum sugarcane is grown in :

(1} Madhya Pradesh {2} Tamil nadu

{31 Uttar Pradesh (4) Maharashtra

52
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(1) 73 By (2) afwsrg (3) S Rw  (4) weOw
160.Indian Vegetable Research Institute is situated at :
(1} Bareilly (2) Kanpur (3} Karnal (4) Varanasi
ARHY M TN STTHUM = Rag B
(1) = (2) FEYT (3) HE (4) arIrerdt
161. Percentage of rice in paddy is :
g | arecT @ giosRT A et ¥
(1) 5.0 (2) 7.0 (3} 8.0 4 9.0
162. Fungi are active in soil at pH? |
waw B fo tgo av oy F Brailer @ 27
{1) 5.0 () 7.0 (3} 8.0 {4) 9.0
163.Optimum temperature for germination of wheat is :
T & sigher O & ey ofad araws ©
(1] 14-16% (2} 24-26°c (3) 30-32% (4] 34-36°
164, Kisan Khad' is Know as :
(1} Ammonium sulphate (2) Ammonium Nitrate
(3) Urea (4} Calcium Ammonium Nitrate
e ' weart ®
1} seifro aehe (2) SR FEIT
(3 Titan : (4 mgﬁﬂ’-’mﬁ Algee
P.T.0.
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165.Indian Pulses Research Institute is situated at :

{1) New Delhi (2) Kanpur (3) Bareilly {4) Kgrnah |

A TE STHEYE = e @ |

(1) =& RB&il (2) *EYR (3) & . (4) BT
166."Jhulsa’ disease is due to deficiency of :

i1} Zine (2) Iron (3) Copper {4) Sulphur

CFET W ag # o | e

) & (2) =@ (3) & {4) aFET
167.Generally U.P. soils have organic matter pf:rcf:ntagc _ L v

Wﬁmaﬁﬁgﬁﬁaﬁwmmaﬁnﬁmﬂwqﬁ
aef B

(1) 0.1t00.3% (2) 0.3 to 0.5%

(3) 0.5t00.7% (4) 0.7 o 0.9%

168. Temperature of cold storage for storage of potalcn thl.lld be :

AT & woEnm & Eﬁl?a’ RS F A9 S e
{1) 10.0to 7.5% (2] 7.0to055%
(3] 5.0to 3.5% {4) 1.01to2:5c

189.Micronutrieént essential for paddy cultivation :
(1] Molybdenum (2] Zinc
13) Copper (4) Boron

U B [ ga am g o
(1) MR (2) Foim (3) ®FW (4) @
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1'70. Which crop is both leguminous and ocilseed
(1) Sunflower (2) Kusum (3) Soyabeen {4} Mustard
P J #9 @ wEd gaeer ol fretes @41 ®
(1) g@&geE (2) FgA (3) wrEEE (4) Feet

171.[n India the ratio of the population of men and animals :

Ry ® gyedt oan ugpedt & s H oTu B
(1) 2:1 2) 1:2 (3} 1:3 (4) 1:4

172. Storage of semen in refrigerator is done at temperature ;

Mt # B araaE ot i w1 wosRer Brar o &

(1) 5°C (2) 10°C (3} 15°C (4} 20°C

173, Lactation period of Murrﬁh buffalo is :
(1) 260days (2) 300days (3) 330days (4] 360 days
Rt g &= haa gy w1 dar &
{1) 260 B (2) 300f@" (3) 330R+ 4] 360 ¥
174.1lndian hen on an average gave eggs :
Wi it o gf 7 1o e A B
(1) 20 (2] 40 (3) 60 ~ 4 80

178, The average percentage of fat in paneer is :

g7 % aar s ofrgeer ufwe g o SIRD B

A1) 15 (2) 20 (3) 28 {4} 35
176. Discase caused dué to deficiency of Vitamin 'B' is :

(1) Scurvy . (2) Night blindness

{3} Ben Beri (4) Rickea T

55 _ P.T.O.
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Rrefim &t @t i @ W & 2 ¢

(1) @ne | (2) Tt
(3 =% & (4) Repe
177.8ced rate per hectare for cauliflower is :
(1) 200 gm (2) S00gm (3) 800gm (4) 1000 gm
o i @ i e a7 ofy e

(1) 200 IM (2) S500WW  (3) 800 ATH (4) 1000 T

178, Pungency of onion is due to :
(1) Allyle Propyl disulphide (2) Allyl propy! Sulphide
{3) Carotene {4) Alicine
st # dfraneT g 2o :
(1) OAEd UOEd g1F OFRES  (2) TOEd NIUEE 9EHEs

(3) U&= (4) of=

179. Consolidation of holdings as a land reforms measure failed to take
“offin ,
(1) Punjab {2) Haryana (3) Tamil Nadu (4) U.P

gﬁw%ﬁm%mﬁmﬁwﬁﬁﬁwwﬁm
B IFA FE W qEr ?

(1) dom= (2) ®BRmom  (3) afterg {4) IAT AT

180, Vitamin present in green chilli is :
(1} VitaminA (2] VitaminB (3) VitaminC (4) Vitamin D
B el A e, amr e B
(1) RefE o (2 Refm @) Redm d @) fede E

56



181. Mango is fruit :

(1] Sorosis (2) Drupe (3)
T T E
(1) '@rifew (2) 3w (3)

182.Carbon percentage in raw iron is :

e &l § e F1 afasre & 2o

(1) 1.5% {2 53.5% (3}
133; Unit of work is :

(1) Kilogram _ {2]

(3) Pound (4]

Raclc o l-Coc B

(1) Feamms 2

(3) drre (4)

1B84. One horsepower is equivalent :
(1} 674 watt (2) 7l4%watt (3}

Eﬂw(aﬁmﬁﬂ)m@?ﬁ%;

(1) 674 (2) 7l4@EE (3
185, Lowest part of atmosphere is :
{1} Troposphere (2}
(3} SBtratosphere | C{4)
| qrgoeE w1 AR Pras we E
(1) RRE (2)
@) o . (4)

57

LU J LL ] Z0{11]

Berry {4) Nut
a4 4) =
5.5% (4] 7.5%
Jule
Meter Kilogram
=
Hiex feenam
746 watt 4] 764 watt
746 qIE | (4) 764 d1E
Mesosphere
lonosphere
| . P.1T%0.
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186.Regional rural banks were established :

fisfra amfor ¥t A T EE
(1) 1970 (2) 1975 (3) 1980 (4) 1985

187.World Bank is situated at :

(1) + Newyork (2} - Jakarta
(3} Washington D.C, (4] Tokiyo
Rrve ¥z Rua ¥ - |
(1) ~@wh (2) Rt
(3) =f¥TET Hodlo (4) SFa
188.0nc hectare nursery of paddy transplanting can be dene of:
(1} 10 hectare (2} 15 hectare
i3} 20 hectare . (4) 25 hectare
T PERAT A @ g & &% # Ja | A T Y-
(1) 10 gFe™T (2) 15 &ERaT
(3) 20 FFAT (4) 25 2FegT
189, Name the State of India having average highest production of cotton :
{1} Punjab (2) Maharashtra
{3) Madhya Pradesh (4) Uttar Pradesh
Fare F a5 ¥Rt SurT wiaad § e g #§ oad ores 2
(1) g=a (2) WERE  (3) WG WeWT  (4) IOC WRBY

190. Colour of ash of good tobacro is : _
{1} Yellow (2) Red (3) Black 4} White

et e W e W VT wew
(1) e (2) @ (3) @ 4) wHE
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191. Study of green aquatic thallophytes is Known as?

(1} Parasitology . (2) Phycology

(3] Mycology (4) Myology
Gﬁ;—%ﬁﬁﬁ#mﬁqﬁ&r&!%ﬂwﬁrww%?
(1) 9T-Fifeeh | 2) rawer sora
(3} HERR AT (4) wra-Qsht orsgmw

192, Nitrogen is present in Urea as :

(1] Amide (2) Ammonia (3) Nitrate = (4] Nitrite
giva # g e w9 A o ot ¥ 7
(1} s (2) omfwr  (3) wERE (4) ArFEEE

193, Dwarf varieties of wheat wer¢ intreduced in India in which year ?

s A ey onf ® g w om W & O gom
(11 1960 (2) 1963 (3) 1970 (4) 1972

194.Eatable portion of potato is :
(1) Root {2} Stem (3) Branch (4] Flower

T W T AT E
(1 = (2) (3) ST (4) 9

1958. Colour of Murrah buifalo is.:
{1) Dark black 2) Cﬂ_pptr type
(3). Brown ) Light Yeilow

h]

5 9 . P.T.o-
: O0 T , .
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et 89w T A
(1) TRT I
(3) HO

196, Origin of Jamunapan goat is :

(1) Etawah (2) Aligarh
SHHTT FHN B g @ ¥
(1) < (2) SR

197.NAFED is an organisation of ;
(1} Nagpur crange growers

(2) National level farmers

'iz} i Ad
- (4) wer dren
3) Agra (4] Etah
@ a4 @

(3) Marketing agency for inter-state marketing of agricultural

produces
{4) MNone of these

NAFED fr=1 § @& Rraah ger 8. 7

(1) AT & GOU IqEHt A

(2) I W R FREEE @

(3) HH Sl F T RAgvE oAl W

(4) Gﬂﬂ?ﬂﬂﬁﬂﬁéqﬂ

198. Average temperature of hen is :

T @ ohd aoEy S ¥
(1) 101°F 2) 103°F

60

(3} 105°F (4) 107°F

30,000
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L]

199. Craop insurance is the monw
RE.

(1} National Instirance Cam i

{2) General Insurance Oomom.tian
-{3) Life: Insurance Corporation
(4) NABARD B

e e 3 ot k
(1}, Ao Feraitee Feht (2) I FITH FeRET
(3) WS TR WMET (4) ¥ (NABARD)

m rate per hectare of chilli is :
v o gy ReRac dor T B
(1] 05kg 2 15kg 3 30k (4} 5.0 kg

61 . 48,008
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ROUGH WORK
TF &

62
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ROUGH WORK
Th WY

63 F.T.0.
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1.
13,
14.

(¥ QfR®T & Fem AT g 0T aw JOv-u% & g get 7
e - wel a-aye 41 @ 8 fre)

w7 A e & 0 fe ¥ st @ 2w & fif e i 7w g € i AR
m%‘rﬂﬁﬁqumémﬁw&aﬁmwaﬁwmw—ﬁﬂmaﬂmw
YT S gEd gt wr &l
Then AT § FrmT o wav-uw & st foRn a1 @ & S gen A w
¥ 9 w3
ITT-TF T R T & :#?a?aﬁ'ah-n?ﬁwaﬁ} ZET I~ TF T fodt WA
e 49T-0F @7 @GR Fo5TT AT
T S U SR-TE F S T S-S W4 feife wm i)
m-w%mwwh#mamhﬁuﬁamwﬁﬁ'mﬁﬁ&ﬁﬁ
T &v 81wl FrEvas @ el Xva-qfetET & WA T AT & T S w
o7
#ito OHo HTo u¥ Gt AJmAIE WO, mgmm!#zm(ﬂﬁﬁs’shm
TAYIRYET OT FwHIE FAN dto We Ao W wemt B At ¥ sufehe Y agely
T h
aug%ﬁrﬁﬁﬂﬁaﬂfn?qﬁﬂ?wﬁﬁwwmmaﬁmw oF FwT
WITT W NAHT WA W@
m-mﬁmfmmtmmmﬁ#wﬁmm%mﬁmtm
UE IAT-UF T WAl i & gt R e g% w5 a9 & gew go oy i@ e
e & Fgar 47 @ v v .
TOF T & S ¥ (oY 39E UF € 9 ) M B4 0@ | w79 & we &
T I 0% 39 & QUi WA T 9 I A WA e
a7 & for 0% W vt I S aaT agen T o wear §) @i e (e v w I
w7 ¢ W ¥, 8 warhw orEn & wrvd 24 78 at et &t at iy & @Ry g
e 15wt
TR Fd & for FeH-gR & (RYS F i aren 76 au IR & sifm 9w
F WA &
TR & IWEA G9 A GW A Ia- 09 TOL v R I e &
ol AT @ # 9ge N Wad | Al A &l srgeta A8 gri
afz & el Tl § s anel = wEm war @, & 97 favafrem g e
<5 iAl, el ghmghf)



